1. 810 9] o540 40k 3 x5 x 7 9] oF40] A7k 22 W, A% x
of & Fsfolet.

D
=%



20x[]o] o0l At 18D W, [ Jerell Soiz A e

A%z

@ 4 @ 8 ® 9 @ 25 ® 49



e Al 429 x 32 x 72 x 150, 2° x 3P x 52 x 73, 24 x5 x 7 x 54 9]
A5k 7E 23 x3x 70 D W, (a+ b+ c) xd 2 F2?

@ 3 @ 5 ® 8 @ 9 ® 12






5.

T4 22x39x5 2} 20 x3x 7 o] FgoFrt 2x3 o)1, AT HiSTt

22x33x5x7 Y W, a+b o 3 Folo=t.

D L
3%



o
~

)

Fed=t.

S

T 2HA 18,4 9] gk

q_

6.



7t 4 ¢l 7

E



@ (+7.6) + (-5) = (-2) — (+2.6) = +2

DT NN
d 275374172

T oo+ _



o

j=
o]

ANEE ol A5HAE THades ™,

ol1d W, A+B-C 9 4

[o

Ol

od | wlno




10.

a, bl st axb>0, a+b<0L8 W,a2tp o B2
Zefet,

flo 40
o <>

2]
A

glo

D a>0,b<0 @ a>0,b>0 ® a<0,b>0

@ a<0,b<0 ® a<0,b=0



11.

=

oo

2
6

Mo

& A7

3y
® (x-3)+3=-3x-9

® x+2+5:gx

@ 3+x+y+2=
3 .2 15

=l w

4 5 8

+

N <



ol

o

—

0
oln

o
o | <

— |

X =

12.

36

® -2

2x2
y
28 32
= @ -2

8
X

D -




,x A, y 9

KN
=

St ?

.;L

o
H =

94

- [6x - {3-2(x+ )] & 23] 3k

Ay
=, A5

=
7

13.

® 2

@ -11 ® -6

O -12



) o] oS Fofole



15. oj® A& st A 7} 5HA 12 A7 283 B 7} 64 15 AJ7F A-ch
A 9} B 7} Zro] 42 5t E AIZF A= lEer)?

18
oy oF o0z oI o=



16. @4 /(x) = -3x + 591 ghstel LEVEEO o grg Sgjofey,

Ct-

18



17. f(x) =x+2a°A f3) =14 W, f(-1) + f(4) 2] 2k2?

@o @ 3 @1 @ -3 ® -1



18.

A Ala,a)7t A 24420 48 1), 3 B(a.ab) & R AR

251719

@ Al 1AREH @ A 2AREH ® Al 3AREH

@ Al 4AHEH ® ¢ i

el

o



19. S HPB.a+t1). Q. 2a+5) 7Fx Zol thotod L of, 4 o] 242
afolat,

B



5l 44 7Pk

7]—x

=

o= o 5 e

®y=-x

= =
— leuen | <t
Il I
NN
Q@ ©
=
= a0
S [
Il I
NN
© @



21.

x| < 8% A2 THE Al A4 a, b, ¢ ol Hst]

ab <0, bc<0, a>b

o=

=l

I=ohs axce o @ T 7H8 2 AS T A2

=
=

O 20 @ 28 @ 42 @ 56

® 70



22. Al 84 a, b, c ol ot lal < bl <cl, axb>0, axc<0 L o,
o el
=

2% 84 e A

D bxc<0 @ axbxc<0 ® la+b| > |a|

@ b+l < el ® la—cl <|cl



O A= 5] St ax + by 2t 2 W, a + b 9] G127

(=1 (x+y) = (=11 (x=y) + (= 1) (x=2y) = (-1) 1% (2x+y)

@ -6 @ -4 ® -2 @0 ® 2




A 234 ax? -3 = 5a(a—x) 7} xoll T AP ), a0 gk
1 410) she Apel 2 Ttelet.

o

24.

T ol

¢

UL
Q
[

a
a

L
=
I



25.

W7t SARE wet A7 S5 d e Al 4km 2, T2 7
YHe = A% 6km 2 AJEY £ 34720 Ho] AFch
AR 2 AgE Fotolzt

@ 2km @ 4km ® 6km

@ 8km ® 10km

1

=

2
ol



